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2. Let y1(t) = ¢ ang y2(t) = ¢3
(2) (3 Points) Calculate the Wronskian of Y1 and y,
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(b) (7 points) Show that y; and 7o are a fundamental set of solutions to the equation
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then stretched 4 m from the spring-mass equilibrium and set 10

oscill : o -
Writ aT}il " Wth an mitial velocity of 6 m /s. Assume that it oscillates without damping. f .
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viscous medium that supplies a dam ]

: is placed in a
(b) (3 points) Now suppose the system 1S P T the value of the damping “onstant

constant that gives the system critical damping.

y for which the system 18 critically damped.




